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» DAFFY NITION DECODER®

EUROPE:

UNDERGROUND GARAGE:
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TO DECODE THE TWO DAFFYNITIONS ABOVE: For the first nine exercises, find the
measure of the angle indicated. For the remaining exercises, find the angle measure needed
to solve the problem. Round to the nearest degree. Each lime the answer appears in the
code, write the leiter of the exercise below it.
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@ Each step of a stairway rises 16 cm

@ A driveway is buiit on an incline so
for.a tread width of 36 crm. What

that it rises 3 m over a distance of

20 m. What is the angle of elevation angle does the

of the driveway? stairway make 36
<<=35m

20 \
- 3 floor?

@ A roof is constructed as shown in the @ A train decreases its altitude by 8 m
diagram. Find the when traveling along 200 m of track.

pitch (angle of Find the angle of depression of the
1 track.
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sf, 200

elevation) of
16—
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the roof.

OBJECTIVE 5-d: To use lrigonometric ratios lo

M&O © 1989 Creative Publications find measures of angles of right triangles.
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For the first eight exercises, find the length x. For the remaining exercises, find the length needed to solve the probiem. Round

sach answer 0 the nearest tenth. Cross out each box that contains a-correct answer. When you finish, write the letters from

the remaining boxes in the spaces at the bottom of the page.
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OBJECTIVE 5-¢: To use trigonomelric ratios 1o find

lengths of sides of right triangles.

70 cm
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As it leans against a building,
a 9-meter ladder makes

an angle of 35° with the
ground. How far is the
bottom of the ladder

from the base of

the buiiding?
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it a rocket flies 2° off course for
1000 miles, how far from the

correct path will the rocket be?
1000 ™
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At a point 20 meters from a-
flagpole, the angie of

elevation of the top of
the flagpole is 48°.
How tall is the
flagpole?

48°
20 m
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